

### **NOWGONG GIRLS' COLLEGE**

Re-Accreditated at A Grade (2nd Cycle) by the National Assessment and Accreditation Council



#### **CRITERIA 4: INFRASTRUCTURE AND LEARNING RESOURCES**

4.1.1: Availability of adequate infrastructure and physical facilities viz., classrooms, laboratories, ICT facilities, cultural activities, gymnasium, yoga centre etc. in the institution



### **LIST OF PHYSICAL FACILITIES**

Submitted to the NAAC for 3rd Assessment Cycle of Assessment & Accreditation





### Office of the Principal

## **Nowgong Girls' College**

( RE-ACCREDITED AT GRADE 'A' BY NAAC )

Nagaon - 782002 : Assam

©: 03672 - 220667 (O) Fax: 03672-220667

Mobile: 94350-63617

e\_mail: ngcprincipal2@gmail.com Website: nowgonggirlscollege.edu.in

Dr. Balin Kumar Bhuyan, M.Sc, Ph.D Principal & Secretary

Date :

#### ICT Enabled / ICT Facilities Class Room

			Number of ICT
O. M.	Room no. with ICT enabled		tools
SI No	facilities	Type of Facility	On COSTON
1	Classroom – 001	Smart Board , Projector	1+1
2	Classroom - 004	Smart TV	1
3	Classroom - 009	Smart TV	1
4	Classroom - 010	Smart Board , Projector	1+1
5	Classroom - 011	Desktop Computer with Webcam , Interactive Smart Board	1+10
6	Classroom - 012	Smart Board, Projector	1+1
7	Classroom – 013	Smart TV	1
8	Classroom – 016	Smart TV	1
9	Classroom – 018	Smart Board, Projector	1+1
10	Classroom – 102	Smart TV	1
11	Classroom – 108	Smart TV	1
12	Classroom – 109	Projector	1
13	Classroom – 121	Smart TV	1
14	Classroom – 123	Smart TV	1
15	Classroom – 126	Desktop Computer	4
16	Classroom – 130	Smart Board , Projector	1+1
17	Classroom – 132	Desktop Computer	1
18	Classroom – 133	Smart TV	1
19	Classroom – 201	Smart TV	1
20	Classroom – 206	Smart TV	1
21	Classroom – 207	Smart TV	1
22	Classroom – 208	Smart TV	1
23	Classroom – 209	Smart TV	1
24	Classroom – 210	Smart TV	1
25	Classroom – 220	Smart TV	1
26	Classroom – 222	Smart Board , Projector	1+1
27	Computer Centre	Desktop Computer	60
28	Computational Physics Lab	Desktop Computer	05
29	Digital Library	Desktop Computer	16
30	Conference hall	Projector	02

Nongong Girls' College Manson : Assam



## Nowgong Girls' College

( RE-ACCREDITED AT GRADE 'A' BY NAAC )

Nagaon - 782002 : Assam

©: 03672 - 220667 (O) Fax: 03672-220667

Mobile: 94350-63617

e\_mail: ngcprincipal2@gmail.com Website: nowgonggirlscollege.edu.in

Dr. Balin Kumar Bhuyan, M.Sc, Ph.D Principal & Secretary

mc				
Kef.	<b>:</b>			

Date	<u></u>		
------	---------	--	--

#### Number of Classrooms with Laboratory facility:

Sl.No.	Department	Room Number
1	NECTAR Language Lab	011
2	Botany Lab	013
		110
		111
3	Physics	Basic Physics Lab
		Advance Physics Lab
		Computational Physics Lab
		Optics Lab
4	Home Science Lab	106
5	Education Psychology Lab	107
6	Zoology Lab	122
		124
7	Chemistry Lab	131
		Physical Chemistry Lab
		232
8	Geography Lab	222

Principal Nomgong Giris' College Mageon : Assam



## Office of the Principal Nowgong Girls' College

#### ( RE-ACCREDITED AT GRADE 'A' BY NAAC )

Nagaon - 782002 : Assam

(C): 03672 - 220667 (O)
Fax: 03672-220667
e\_mail: ngcprincipal2@gmail.com
Website: nowgonggirlscollege.edu.in

Mobile: 94350-63617

Dr. Balin Kumar Bhuyan, M.Sc, Ph.D Principal & Secretary

Ref. :	Date :

#### Facilities for Cultural activities, Sports & Games (indoor, outdoor) Gymnasium, Yoga centre

SI. No	Facilities for Sports, Games (indoor, outdoor), Gymnasium, Yoga centre etc.	Dimension	Numbers
1	,	70 × 62 = 4077 or mts	01
1	Indoor Stadium (Multipurpose)	79 x 63 = 4977 sq. mts.	01
2	Auditorium	80 x 40 = 3200 sq. mts.	01
3	Yoga	7.62 x 5.18 = 39.47sq.mts	01
4	Volley Ball Court	80 x 55 = 4400 sq. mts.	01
5	Badminton Court	13.4 x 6.1 = 81.74 sq.mts.	02
6	Muktangan-Open Stage	28.30 x 22.50 =636.75 sq. mts.	01

Sl. No	Infrastructure Facility and Equipment	Dimension/ Weight	Numbers
1	Badminton Courts	81.74 sq.mts.	02
2	Badminton Racquet		04
3	Badminton Net		02
4	Yoga Mat	39.47sq.mts	01
5	Taekwondo Mat	11.20 x 10.20 = 114.24sq. mts.	01
6	Table Tennis Board		01
7	Table Tennis Racquet		04
8	Discus Throw		01
9	Javelin Throw		01
10	Skipping Rope		06
11	Tug of War Rope		01
12	Shot Put		01
13	High Jump Bar		02
14	Chess Board		04
15	Carrom Board		02
16	Volley Ball Court	162 sq.mts	01
17	Volley Ball Net		01
18	Arm Wrestling Table		02
19	Basket Ball Court(Half)	210 sq. mts	01
20	Basket Ball		02
21	Volley Ball		01
22	Flat Benches		02
23	Multiple Bench		01
24	Home Gym Machine		01
25	Gym Cycle		01
26	Treadmill		01
27	Dumbbells		04
28	Barbells		02
29	Gym Weight Plates	10 kg = 4nos 5 kg = 8 nos 2.5 kg = 10 nos 2 kg = 10 nos	125 kg
30	Skipping Rope		06
31	Roller	_	01

Principal Nomgong Giris' College Mageon : Assara



# Office of the Principal Nowgong Girls' College

( RE-ACCREDITED AT GRADE 'A' BY NAAC )

Nagaon - 782002 : Assam

©: 03672 - 220667 (O) Fax: 03672-220667

Mobile: 94350-63617

e\_mail: ngcprincipal2@gmail.com Website: nowgonggirlscollege.edu.in

Dr. Balin Kumar Bhuyan, M.Sc, Ph.D Principal & Secretary

Ref. :	Date :

#### Facilities for Cultural activities, Sports & Games (indoor, outdoor) Gymnasium, Yoga centre

SI. No.	Facilities for Cultural Activities	Dimension	Number
1	Muktangan-Open Stage	636.75 sq. mts.	01
2	Indoor Stadium (Multipurpose)	4977 sq. mts.	01
3	Auditorium	3200 sq. mts	01

Principal Nompong Girls' College Mageon : Assam